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1 2| & 4 5|6 7 8 9 10 | 11| 12 13 14 15 16 17 18 19
1 8 4.2 = |33 3:3 8BKJI1C31I"3+BI1 64 | 0.75] 2 25| 32 230 1 BCP CTOB. LIKiJ. 8 He BussieHo
2110 0.5 - |05 0.5 9C31BKJI+BIHT3 69 | 05|1A | 25| 36 260 1 BCP BITPOJIOM 24 He BusiBICHO
3 1 0.7 = 0.7 0.7 10C3+T3 62 0.7| 1B 24 | 28 350 1 BCP BiTpOJIOM 7 He BusiBneHo
3 2 0.6 - 10.6 0.6 8BII2I'3+C3+/13 69| 07|1A| 28| 28 270 1 BCP BiTpOIOM 25 He BusiBneHO
i 3 3 23 = |23 23 731 031BKJI1BIT+C3 69 | 0.75 2 211 20 225 1 BCP BITPOJIOM 12 He BusAB/IEHO
é 4 6 1.9 - (1.9 1.9 10C3 69 | 0.75| 1B 27| 28 450 1 BCP CTOB. HIKiJ. 16 He BussneHo
= 2] 7 | 26 |-|26] 26 SKJIT 1T 315K 54| 09| 1] 20]20 230 1 BCP BITPOTIOM 15 He BusBcHo
™ 12| 12 1.3 = 11.3 1.3 5I'33BI11131C3+5IB+BKJI+C3+T3| 64 | (.85 2| 18 (16 210 1 BCP BITpOJIOM 28 He BusBneno
16| 9 1.1 2 |11 1.1 7I'32BIT1 I3+0C+C3 64 [085] 3 17] 16 200 1 BCP BiTpOJIOM 14 He BusieneHo
33k 9 2.0 - 12.0 2.0 10C3+A3+BKJI+T 3+KJIT 99 |1 07| 1 28| 40 420 1 BCP BITPOJIOM 14 He BusBneHo
33 3 1.0 - 11.0 1.0 3134I'32BKJII C3+q4P+S3+KIIT' | 55 [ 0.85| 1 17| ‘18 160 1 BCP BITPOJIOM 15 He BusBnexo
36| 4 9.0 < |85 8.5 6I'32BI11 BKJI1KJIM+C3+KJIT 89 1 07| 2 22| 22 250 1 BCP BiTpPOJIOM 13 He Bussneno
381 1 5.9 =159 59 3/132I'3251B1BKJI1BITIOC 89107 | 2 24| 26 260 1 BCP BiTpOJIOM 6 He BusiBneHO
3 2 3.7 = |39 37 8C32BKJI 84 |0.75]| 1A 26| 36 400 1 BCP BITPOZIOM 16 He BusBneHo
19 1.1 - 1EA 1.1 10C3 73 | 075 1 22| 28 345 1 BCP BiTPOJIOM 22 He Bussneno
3 13 = 113 1:3 8C32BKJI+BIT 73 0,7] 1A 25| 28 360 1 BCP BiTpOJIOM 14 He BuasneHo
i 17 | 11 1.4 - |14 14 10C3 64| 0,7[1A| 21 | 28 300 1 BCP BIiTPOJIOM 14 He sussnexo
§ 24 | 15 2.6 - 2.6 2.6 10C3 61 | 0.7 | 1Al 32 24 340 1 BCP BiTpOJIOM 34 He BusiBneHo
‘E 30| 13 1.2 = |12 1.2 8C32BI1 62 0.7 1 18| 24 230 1 BCP BITPOJIOM 46 He BusBIEHO
E 31| 18 2.3 = |23 23 8C32/13+513+13 57| 0.75| 1B | 23] | 350 1 BCP BITPOJIOM 12 He BusiBieHO
= 311 28| 15 |- |Ls5] 15 4C34BI2I'3+OC+BK/HYLISB | 82 | 0.6] 1 L7 ‘{g 35""’7"0 20 1 BCP BIiTpO/IOM 27 He BusiBieHO
31|26 [ 27 |- ]24] 24 8I'32BKJI+C3+Bk1 87 | 07| i daP2a% o 1 BCP BiTpONIOM 16 | He Bussncko
41 1 | 64 |-[64 64 5Bn2Bi1 J132I'3+0C 84 | 0.65] fl>T 76 BA\ | \2 230 1 BCP BITPOIOM 29 | HeBussneno
43| 1 34 | -|34] 34 54YP1132C31KIIT1I3 56 | 0.85/{1B | 3|25} §! 0 - 1 BCP BITPOJIOM 54 He BHABJEHO
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